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1. Use the graph of g to solve. AY
8-
Find g( — 10). 6-
44
g(-10)=[ | :
. X
PO I O O I O I I >
| 2 4 6
-4
Y
8
iid g(x)
-12-
ID: 8.2.17
Z. Let f(x) =2 — (x + 1) +2x. Find all values of x for which f(x) is at least 3.

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A

The solution set in interval notation is |:|

(Simplify your answer. Use integers or fractions for any numbers in the expression.
Type your answer in interval notation.)

The solution set is &.

ID: 9.1.31
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2 Express the interval in set-builder notation and graph the interval on a number line.

[6.9]

The solution set in set-builder notation is {x | |:| }
(Type an inequality or a compound inequality.)

Choose the correct graph below.

OA (OB.
| | I N NN [ S| | 1 1 1
~T 1T T T T ""1T"1T" ~T T T 1T 1T "1T"71T"
21012345678 910 2101234567 89H10
Oc. (CD.
B e e s <4 ——+—+—
~1T 1T T 1T 1T 1T T1T"7
21012345678 910 2101234567 839H10
ID: 8.2.25
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4. Solve each compound inequality. Use graphs to show the solution set to each of the two given

inequalities, as well as a third graph that shows the solution set of the compound inequality.
Express the solution set in interval notation.

—4x+3>11lor —2x+18>4x

What is the correct graph of —4x+3 > 117

A {B.

-10 0 10 -10 0 10
iC {D.

-10 0 10 -10 0 10

OA ()B.

-10 0 10 -10 0 10
c. (D.

-10 0 10 -10 0 10

What is the correct graph of the compound inequality —4x+3> 11 or —2x + 18> 4x?

OA. OB.
B L B o o o et e
-10 0 10 10 g 16
cC. OD.
-10 0 10 -10 0 10
(E {VF:
-10 0 10 -10 0 10

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A, The solution set in interval notation is |:|

()B. The solution is the empty set.
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5. Solve the compound inequality. Use graphs to show the solution set to each of the two given

inequalities, as well as a third graph that shows the solution set of the compound inequality.
Except for the empty set, express the solution set in interval notation.

2x>6x—20and 7x>4x+9

Graph the solution set of 2x > 6x — 20. Choose the correct graph below.

A 0
-10 0 10

O)C. (D
-10 0 10

-10 0 10
-10 0 10

-10 0 10
-10 0 10

Graph the solution set of the compound inequality 2x > 6x — 20 and 7x > 4x + 9. Choose the

correct graph below.

(A B
-10 0 10
{CiC. (D
-10 0 10
JE. (OF
B A B e B
-10 0 10

S S mamamamaa e B

-10 0 10

<l e

-10 0 10
-10 0 10

Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

{3A. The solution in interval notation is |:|

()B. The solution is the empty set.
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5.
(cont.) 1D: 9.2.19
6. Find the solution set for the equation.
|2y — 15[ =[9 -2y
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(JA. The solution set is ﬂj}
(Simplify your answer. Use a comma to separate answers as needed.)
()B. The solution set is all real numbers.
{")C. The solution is &.
1ID: 9.3.35
& Use the graph of f to find the indicated

function value.
f(—6)

f(—6)=[ |

ID: 8.2.9
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g Solve and graph the solution set on a number line.

|x=3| <€ —12

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A The solution set is |:| (Type your answer in interval notation.)

{)B. The solution set is &.

Choose the correct graph below.

OA. -3 5 (JB. -3 9

-10 0 10 -10 0 10
0c -3 o (OD. The graph contains no points.

-10 0 10
ID: 9.3.63
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0. Solve and graph the solution set on a number line.

2|2x—9|+4>18

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A The solution set is |:| (Type your answer in interval notation.)

{)B. The solution set is &.

Choose the correct graph below.

OA. 1 8| O i 8E

-10 0 10 -10 0 10
OiC 1 8 (OD. The graph contains no points.

-10 0 10
ID: 9.3.69
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10. Find the indicated function values for the function below.
f(x)=x+6
a. f(0) b. f(6) c. f(—9) d. f(7a) e. f(a+8)
a. f(0)=|_| (Simplify your answer.)
b. f(6) = I:I (Simplify your answer.)
c. f(—-9)= |:| (Simplify your answer.)
d. f(7a) = |:| (Simplify your answer.)
e. f(a+8)= |:| (Simplify your answer.)
1D: 8.1.9
11. For f(x) = 6x and g(x) = x + 8 find the following.

a. (feg)(x) b. (ge)(x) c. (feg)(2)
a. What is (fe g) (x)?

(feg)(x)= |:| (Simplify your answer.)

b. What is (g ° f)(x)?

(geH(x)= |:| (Simplify your answer.)

c. What is (f=g)(2)?

(feg)(2)= |:| (Simplify your answer.)

ID: 8.4.1
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12. Solve and graph the solution set on a number line.
2(x—1)+12|< 18
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(JA. The solution set is |:| (Type your answer in interval notation.)
()B. The solution set is &.
Choose the correct graph below.
A -14 < ()B. -14 4
-20 -15 10 -5 0 5 10 15 20 -20 -15 10 -5 0 5 10 15 20
G, -14 4 ()D. The graph contains no points.
-20 15 10 5 0 5 10 15 20
ID: 9.3.55
13. Find the solution set for the equation.

4x8‘
6

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(OJA. The solution set is {]:|}
(Simplify your answer. Use a comma to separate answers as needed.)

()B. The solution set is all real numbers.

{JC. The solution set is &.

ID: 9.8.7
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14. The function below is defined by two equations. The equation in the first row gives the output

for negative numbers in the domain. The equation in the second row gives the output for
non-negative numbers in the domain. Find the indicated function values.
3x+2 ifx<0

f(x) = .
8x+6 ifx=>20
a. f(—2) b. f(0)
c. f(8) d. f( — 100) +£(100)

a. f(—2)= |:| (Simplify your answer.)
b. f(0)= |:| (Simplify your answer.)
¢ f(8)= |:| (Simplify your answer.)

d. f(—100)+1(100)= |:| (Simplify your answer.)

ID: 8.1.31
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15. The bar graph shows the average atmospheric

concentration of a pollutant in ppm for seven
selected years.

%
!
W W W b
B OO ® O

Concentration (ppm)
w
N

(93]
o

1950196019701980199020002005
Year

The data can be modeled by the functions
f(x) =1.21x + 308 and

g(x) =0.01x>+ 0.6x + 315, where f(x) and
g(x) represent the average concentration of
pollutant in ppm x years after 1950.

Page 12

The graphs of f&

fand g are shown to

the right. g

T T T T T T
0 1020 30 4050 60
Years after 1950

Avg. Concentration (ppm)
W
[8)]
[an]

a. Find and interpret f(40). Use the equation
for f(x) to identify this information as a point
on the graph.

|:| (Type an ordered pair.)

Interpret the meaning of the point on the
graph of {.

The average concentration of pollutant in the
year |:| was |:| parts per million.

b. Find and interpret g(40). Use the equation
for g(x) to identify this information as a point
on the graph.

|:| (Type an ordered pair.)

Interpret the meaning of the point on the
graph of g.

The average concentration of pollutant in the
year |:| was I:I parts per million.

¢. Which function, the linear or the quadratic,
serves as a better description for the actual
data shown by the bar graph when x = 40?
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19:
(cont.) The quadratic | function
linear
ID: 8.2.49
16. Evaluate f~'(8) without finding an equation for the function.
fx)=2x+4
£1(8) = |:| (Simplify your answer.)
ID: 8.4.57
i The graph to the right shows that the three components of love, \y Commitment
namely passion, intimacy, and commitment, progress differently 5 107
over time. Passion peaks early in a relationship and then declines. Z 8
By contrast, intimacy and commitment build gradually. What is the = 67
relationship between intimacy and commitment on the interval 5 4 i
5 . Intimacy
[4.6)? 2 5
= ]

0 2 4 6 8 10
Years

Choose the correct relationship between intimacy and commitment on the interval [4,6)

below.

(DA, intimacy < commitment
(JB. intimacy > commitment
(JJC. intimacy > commitment

(OD- intimacy < commitment

ID: 9.1.47
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18. Find the union of the sets.
{b,e,m,q,t} W
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
OA. {b,e,m,qt} U= D}
(Use a comma to separate answers as needed.)
(J)B. The solution is the empty set.
1D: 9.2.37
19. Solve and graph the solution set on a number line.

|x+2|<4

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(JA- The solution set is |:| (Type your answer in interval notation.)

{)B. The solution set is &.

Choose the correct graph below.

(A i_)B.

-20 15 10 -5 0 &5 10 15 20 -20 15 10 -5 0 5 10 15 20

cC. ()D. The graph contains no points.

-20 15 10 -5 0 5 10 15 20

ID: 9.3.43
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20.

21.

Find the solution set for the equation.

|3y +9[+9=7
Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

(JA. The solution set is {]j} (Use a comma to separate answers as needed.)

(1B. The solution set is all real numbers.

()C. The solution set is &.

ID: 9.3.23

Find f(g(x)) and g(f(x)) and determine whether the pair of functions f and g are inverses of
each other.

X

f(x) =9x and g(x) = o
a. f(g(x)) = |:| (Simplify your answer.)
b. g(f(x)) = |:| (Simplify your answer.)

€ (7 fand g are inverses of each other.

() fand g are not inverses of each other.

1D: 8.4.15
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i) Solve the compound inequality. Use graphs to show the solution set to each of the two given

inequalities, as well as a third graph that shows the solution set of the compound inequality.
Except for the empty set, express the solution set in interval notation.

x<6and x<1

Graph the solution set of x < 6. Choose the correct graph below.

A ()B.
e R <t ——
-10 0 10 -10 0 10
OcC. CiD-
<t —— <o |
-10 0 10 -10 0 10

Graph the solution set of x < 1. Choose the correct graph below.

OA. (OB.
< ———————- < ———————-
-10 0 10 -10 0 10
<€ —————————-> < >
-10 0 10 -10 0 10

Graph the solution set of the compound inequality x < 6 and x < 1. Choose the correct graph
below.

OA (OB.
e < e, — |
-10 0 10 -10 0 10
(C. OD.
10 Oi 10 -10 0 10
=
imimnimnieninipiei—{————————->
-10 0 10

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
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22. (A, The solution set in interval notation is |:|
cont. .
( ) ()B. The solution is the empty set.
1D: 9.2.9
i) A company that manufactures small canoes has a fixed cost of $24,000. It costs $40 to

produce each canoe. The selling price is $160 per canoe. (In solving this exercise, let x
represent the number of canoes produced and sold.)

a. Write the cost function.

cx) =[]

b. Write the revenue function.

Rx)=[ ]

¢. Write the profit function.

Pe)=[ |
d. More than how many canoes must be produced and sold for the business to make money?

More than |:| canoes must be produced and sold for the business to make money.

1D: 9.1.55
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24, Use the vertical line test to determine if y is a AY

function of x in the given graph.

Is y a function of x?

3 No

0 Yes

ID: 8.2.1
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25. Solve the compound inequality. Use graphs to show the solution set to each of the two given

inequalities, as well as a third graph that shows the solution set of the compound inequality.

x2—8orx<—9

Which graph illustrates the inequality x = — 8?

DA -8 ()B.
-12 0 12

Oc. -8 OD.
-12 0 12

Which graph illustrates the inequality x < — 9?

OA. -9 C)B.
-12 0 12

Qc. -9 D
-12 0 12

OA. 28 OB
-12 0 12

oc. o D
-12 0 12

-12 0 12

-12 0 12

-12 0 12

-12 0 12

-12 0 12

Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

(3A. The solution set in interval notation is |:|

()B. The solution is the empty set.

ID: 9.2.45
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26. Use the graph of f to draw the graph of its M
inverse function. 5
Use the graphing tool to graph the function. 6
Click to
enlarge
graph —————r
-10 -8 -6
0% Gl
e
ID: 8.4.41
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27 Solve the linear inequality. Other than J, graph the solution set on a number line.
4x —40< = 2(x +2)
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(A The solution set in interval notation is |:|
{)B. The solution set is &.
Graph the solution set on a number line. Choose the correct graph below.
(A 6 (B 6
-10 0 10 -10 0 10
c. (D 6
< A ———————
-10 0 10 10 0 10
O)E. - 6
< e <—|—H—|—|—|—H—H—H—H—H—W
-10 0 10 -10 0 10
ID: 9.1.11
928, fix)=x?—3x and g(x)=7—x

Find (f— g)(x) and (f— g)(3).

t-9x)=_|
t-g3)=] |
1D: 8.3.35
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29.

30.

Find the intersection of the sets.

{1,2,3,7,9}n{0, 1, 2, 9}

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

% 11,28, 7, %m0, 1, 2, 9}={1]}

(Use a comma to separate answers as needed.)

(JB. The solution is the empty set.

1ID: 9.2.1

AY
Find the domain and range of the relation. 4

Find the domain. Select the correct choice below and fill in the answer box to complete your
choice.

(JA- The domain contains infinitely many points. The domain in interval notation is |:|

(UB. The domain can be described by a list of distinct numbers. The domain is {x| x = D}
(Use a comma to separate answers as needed.)

Find the range. Select the correct choice below and fill in the answer box to complete your
choice.

(DA The range contains infinitely many points. The range in interval notation is I:I

(OB. The range can be described by a list of distinct numbers. The range is {y| y= D}
(Use a comma to separate answers as needed.)

ID: 8.2.41
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31. Use interval notation to express the solution set and graph the solution set on a number line.
Sx+5<35
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(JA. The solution set is |:| (Type your answer using interval notation.)
(JB. The solution set is @.
Choose the correct graph below.
(A JB.
-10 -8 6 4 2 0 2 4 6 8 10 -10-8 6 4 -2 0 2 4 6 8 10
{c. {JD. The solution set is &.
-10 8 6 4 -2 0 2 4 6 8 10
ID: 9.1.1
39 Find the domain of the function.

1
+
x+11 x+4

f(x) =
What is the domain of 7

OA. (—o,—11)or(—11,m)
OB (~w.m)
(JC. (—,0) or (0,00)

OB (-, 1l)or(—11,—4)or (—4,0)

ID: 8.3.9
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35,

34.

Solve.
|[4x —3|=[2x+ 16|
Select the correct choice below and fill in any answer boxes in your choice.

(JA. The solution set is ﬂj}

(Simplify your answer. Type an integer or a simplified fraction. Use a comma to
separate answers as needed.)

{3B. The solution set is all real numbers.

{1C. The solution set is &.

ID: 9.3.29
Solve and graph the solution set on a number line.
x| <4

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A The solution set is |:| (Type your answer in interval notation.)

()B. The solution set is &.

Choose the correct graph below.

A =2 4 (OB. -4 “

-13 0 13 -13 0 13
Qc. -4 - (C)D. The graph contains no points.

-13 0 13
1D: 9.3.39
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e Let f(x) = 13x and g(x) = — 2x — 6. Find (f+ g) (x), (f—g) (x), (fg)(x), and [é](x)

f+gx)= |:| (Simplify your answer.)
f-gx= |:| (Simplify your answer.)
(fe)(x) = |:| (Simplify your answer.)
f o
[—J (x)= |:| (Simplify your answer.)
g
ID: 8.3.17
36. Find the indicated function values.

f(x)=(-x)>-x2-x+14

a. f(0)

b. f(3)

& —3)

d. f(2)+1f(—=2)

a. f(0) = |:| (Simplify your answer.)
b. f(3) = |:| (Simplify your answer.)
c.f(—3)= |:| (Simplify your answer.)

d. f(2) +f(-2)= |:| (Simplify your answer.)

ID: 8.1.17
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37. Solve and graph the solution set on a number line.
|x+7|>1
Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(A The solution set is |:| (Type your answer in interval notation.)
()B. The solution set is &.
Choose the correct graph below.
(DA -8 -6 (OB. -8 -6
-10 0 10 -10 0 10
Oc. < 0 ()D. The graph contains no points.
-10 0 10
ID: 9.3.49
38. The figure shows the cost of mailing a i y
first-class letter, f(x), in a country as a 0' !
function of its weight, x, in ounces. =
E 0.7 o—e
. = 5 0.6 o—e
What is the cost of mailing a letter that =
: w 0. o—e
weighs 1.8 ounces? S 03

Weight (ounces)
The cost is $|:|.

ID: 8.2.57
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39. Use the graphs of y, y, and y 5 to solve each i
compound inequality. 5]
6]
—4<2x-2<L2 '
The solution is | _|. ) = 7 AP o
I . 3 1
(Type your answer in interval notation.) T >

ID: 9.2.61

40. For f(x) = Vx and g(x) =x — 5 find the following.

a. (feg)(x) b, (g°D(x) c (fog)(6)
a. What is (fe g)(x)?

(feg)(x)= |:| (Simplify your answer.)
b. What is (g e f) (x)?
(gef)(x)= |:| (Simplify your answer.)
¢. What is (fo g)(6)?

(feg)(6)= |:| (Simplify your answer.)

ID: 8.4.9
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41. Let f(x)=x>+9x and g(x)=1 —x.
. f f
Find | —[(x) and | —|(4).
g g
f
[—J =]
g
f ; ;
— &)= |:| (Type an integer or fraction.)
g
ID: 8.3.43
42, . 5x+8
The function f(x) = is one-to-one.

Find an equation for f '(x), the inverse function.

1) =[]

(Simplify your answer. Use integers or fractions for any numbers in the expression.)

ID: 8.4.33
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43, Determine whether the relation is a function. Give the domain and the range for the relation.

1(2,4),(6,6),(7,7);

Is this a function?
3 Yes

3 No

The domain is {I:I }.

(Use commas to separate answers.)

The range is {I:l }e
(Use commas to separate answers. )

ID: 8.1.1
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44, Solve the linear inequality. Other than &, graph the solution set on a number line.

6(x+10) - 13<27+10(4 +x)

Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

(DA The solution set in interval notation is |:|

(Simplify your answer. Use integers or fractions for any numbers in the expression.

Type your answer in interval notation.)

()B. The solution set is .

Graph the solution set on a number line. Choose the correct graph below.
't) A -5 (B. -5

1 1
~ 1 1 1 1
10-9 -8 -7 6 -5-4-3-2-10

Cic. (OD. 5

AP0 § F 4§ 5 4§ 2 -] O

(TJE. -5
I I B

i 1 T 1 T

109 8 7 6 -5 -4 -3 2-10

(JF. The solution set is &J.

ID: 9.1.21
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45, The bar graph shows the population of a 1o B Malo R
particular country, in millions, for five 158 162166
sclected years. The two following functions 7z 153158 .
model the data, where x is the number of £ ] I i I
years after 1985. U 137136142 """"""
) § 135131+ -
M(x)=1.88x+116.2 male population 3 |,5|
(="
F(x)=1.47x +144.3 female population & 115}~
Answer the following questions. 1985 1000 — 1005 — 2000 2003

a. Write a function that models the ratio of males to females of a particular country for the
years shown in the bar graph.

Choose the correct answer below.
A M 1.88x +116.2 ioB. { F 1.47x +144.3
ey B RS s o L R e
F 1.47x + 144.3 M) T 188k + 116.2

OC. (M-F)(x)=041x—28.1 (ID. (MF)(x) = 2.764x + 16767.66

b. Use the function from part (a) to find the ratio of males to females in 2000.

The ratio of males to females in 2000 is |:|

(Round the final answer to three decimal places as needed. Round all intermediate values to
three decimal places as needed.)

¢. Does the result in part (b) overestimate or underestimate the actual ratio of males to females
in 2000 shown by the bar graph? By how much?

Choose the correct answer below.

(3 The result in part (b) underestimates the actual ratio of men to women in 2000 shown
by the bar graph by approximately 0.1.

3 The result in part (b) overestimates the actual ratio of men to women in 2000 shown by
the bar graph by approximately 0.1.

1D: 8.3.65
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46. 5 . ) f
Let f(x) =x”+ 3x and g(x) =2 — x. Find the domain of —.
g
: . £
Determine the domain of —. Choose the correct answer below.
g
'M:WA ( - OO’2)
{B. (— o0,)
OC. (—x,2) or (2,)
OD. (2,0)
1D: 8.3.49
AT When 5 times a number is subtracted from 2, the absolute value of the difference is at least 3.

Use interval notation to express the set of all real numbers that satisfy this condition.

The solution set is |:|

(Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)

ID: 9.3.83
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48 . o A
‘ The given graph represents the probability that two 19
people in the same room share a birthday as a %».g'i
function of the number of people in the room. Call the 2 _é_ 074
function f. Complete parts a and b. 2& 06
Fg ] y =f(%)
ugo
a. Explain why f has an inverse that is a function. Ew 04
; ; 2 y 2= 0.35
b. Describe in practical terms the meanings of 8% 02
-1 -1 -1 3
f 1(04),f (0.55),f "(0.25). —@%‘ 0.1
e O+ FT+—TTT>
0 10 20 30 40 50 60

Number of Persons

a. Choose the correct answer below.

(A, A horizontal line intersects the graph of f in more than one point.

()B. No horizontal line intersects the graph of f in more than one point.

b. Choose the correct description for £~ 1(0.4) below.

OA. £71(0.4), or approximately 20, represents the number of people who would have to be
in the room so that the probability of two sharing a birthday would be 0.4.

(OB £71(0.4), or approximately 20, represents the number of people who would have to be
in the room so that the probability of two not sharing a birthday would be 0.4.

Choose the correct description for £ '(0.55) below.

OA £ 1(0.55), or approximately 25, represents the number of people who would have to
be in the room so that the probability of two sharing a birthday would be 0.55.

OB. £~ 1(_0.55), or approximately 25, represents the number of people who would have to
be in the room so that the probability of two not sharing a birthday would be 0.55.

Choose the correct description for £~ '(0.25) below.

OA. £ 1(0.25), or approximately 15, represents the number of people who would have to
be in the room so that the probability of two sharing a birthday would be 0.25.

OB f 1(0.25), or approximately 15, represents the number of people who would have to
be in the room so that the probability of two not sharing a birthday would be 0.25.
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48.
(cont.) ID: 8.4.65
49, For the pair of functions, f and g, determine the domain of f+g.
) = == g(x) =
T e T
Determine the domain of f+ g. Choose the correct answer below.
OA (—o,—3)or (—3,3) or (3,m)
(OB. (—oo,0)
OC. (—=,3) or (3,w)
OD. (—,-3) or (3,9)
ID: 8.3.25
50. Use the table below to find the indicated a. h(—10)= |:|
function values.
b. h(10)=] |
X h(x)
—-20 20 ¢. For what values of x is h(x) = 10?
— 10 10
0 0 X= D
10 10 (Use a comma to separate answers as needed.)
20 20
a. h(—10)
b. h(10)

¢. For what values of x is h(x) = 107

ID: 8.1.23
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Assignment: Exam 1 Practice/Ch. 8-9

51. Solve the inequality and graph the solution set on a number line.

O0<x+1<8

The solution in interval notation is |:|

Choose the correct graph below.

OA. -1 7 OB. -1 7

10-8 6 -4 2 0 2 4 6 8 10 108 6 -4 -2 0 2 4 6 8 10
c. =1 7 {D. -1 7

-l0-8 6 4 -2 0 2 4 6 8 10 -10-8 6 4 -2 0 2 4 6 8 10

1D: 9.2.25
10 The functions f and g are defined by the following tables. Find f~ ' (g( —2)).
X f(x) X g(x)
-4 -1 —§ 3
=32 3 -2 11
6 11 9 4
10 12 10 —~.2
£ '(e(-2)=]

ID: 8.4.49
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53. Find f(g(x)) and g(f(x)) and determine whether the pair of functions fand g are inverses of
each other.

1
fi(x)=—16x and g(x) = — Ex

a. f(g(x)) = |:| (Simplify your answer.)

b. g(f(x)) = |:| (Simplify your answer.)

¢. Are fand g inverses of each other?

3 No
3 Yes
ID: 8.4.23
54. Find the solution set for the equation.
|9x — 6] +9=25

Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(A The solution set is {|:|}
(Simplify your answer. Use a comma to separate answers as needed.)

()B. The solution set is all real numbers.

(JC. The solution set is &.

ID: 9.3.17
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55 Use the table defining f and g to solve X f(x) 2(x)
the following problem. g -10 )
-1 = |
(f+g)(— - (g—H2) 0 2 4
1 8 7
2 14 10
(f+g)(— 1)~ (g—(2) =] | (Simplify your answer.)
ID: 8.3.59
56. Find the domain of the function.

f(x)=Tx+11

Determine the domain of f(x). Choose the correct answer below.

OA. (=,11) or (11,0)
OB. (7,%)
OC. (—»,7)

1ID: 8.3.1
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57. Express the interval in set-builder notation and graph the interval on a number line.

(—©,4.6)

The solution set in set-builder notation is {x | [] k
(Use integers or decimals for any numbers in the expression.)

Choose the correct graph below.

OA. 46 (OB. 46

01 2 3 456 7 8 9 10 01 2 3 4586 7 8 910
i (o (D. 4.6

o e

012 3 456 7 8 9 10 01 2 3 456 7 8 910
OE. 46 ()F. 46

012 3 456 7 8 9 10 01 2 3 4586 7 8 910
1D: 8.2.33
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i 6
2. A, [2,w)
3 6<x<9
D
4. A
C
E
A, (—=®,3)
5. C
D
C
A, (3.5)
6. A, 6
7 ~'8
8. B
D
9. A, (—2,1)U(8,%)
C
10. 6
12
-3
Ta+6
at+14
11. 6x + 48
6x + 8
60
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12, A, [—14,4]
C
13 A, —4.8
14. -4
6
70
508
15. (40,356.4)
1990
356.4
(40,355)
1990
355
quadratic
16. 2
17. D
18. A,b,e,m,q,t
19. A, [—6,2]
C
20. C
21, X
X

fand g are inverses of each other.
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22, D
C
E
A, (—oo,1]
23. 24,000 + 40x
160x
120x — 24,000
200
24. Yes
25, B
B
B
A, (—©,~9)V[ - 8,)
26.
27. A, (—,6)
D
28. x?2-2x—-7
-4
29. A! 15299
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30. A, (— o, »)
A, (-, —1]
31. A, (—©,6)
B
32. D
33 19 13
As _5 -
2 6
34. A, (—4,4)
B
35 11x—6
15x+6
—26x* — 78x
13x
—2x—6
36. 14
=25
35
20
37, A, (—o,—8)U(—6,0)
A
38. 0.47
39. [—1,2]
40, x—5
Vx -5
1
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41. X2+ 9x
1—x
2
3
42, x+8
x=5
43, Yes
2,6,7
4.6,7
44. A, (—5,2)
A
45. A
0.868

The result in part (b) underestimates the actual ratio of men to women in 2000 shown by the bar
graph by approximately(.1.

46. C
47. 1
—o, —— |U[l,0
[ 5] [1,%)
48. B
A
A
A
49 A
50. 10
10
10,- 10
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S1. {—~1.7)
C
52, 6
33. X
X
Yes
54. 22 10
A: _:- -
9
53 1
56. D
57. Xx<4.6
B
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